
®  23801 E. La Palma Ave., Yorba Linda, Ca 92887 Ph. 714.692.8180  Fax. 714.692.5016  
 

www.cobrausa.com  

06/03
  ®

 

 

 

*  Cobra® recommends you always wear a helmet while riding. Please never operate your motorcycle while under  
 the influence of alcohol and/or drugs. Enjoy the new look  of your motorcycle and please ride safely.  

Items Supplied > 

1 - Freeway Bar 

2 – Clamp, Billet 

1 – Bolt, Hex M8x20mm 

4 – Bolt, Button Head 5/16 x ¾ 

1 – Spacer 

Application > 

AERO 750 04-09, 11-15 

SPIRIT 750 C2 07-09, 12-14 

PHANTOM 750 10-15 

Instruction Manual > 

Before installing your new Cobra® Freeway bar, read all instructions carefully. 
 

1. Remove the M10 bolt from the rider left and right lower foot peg brackets and set aside for later use. 

2. Remove the M6 button head allen bolts from the left and right upper frame gusset covers near the radiator and 
set aside for later use. 

3. Remove the horn by carefully unplugging the wires from the horn then remove the bolt that attaches the horn to 
the frame.  

4. Lightly pull the gusset covers away from left side of frame and at the radiator and insert the provided billet clamp 
between the radiator and frame.  Rotate the clamp so that flat threaded mounting surface faces outward. 

5. Repeat step 4 on the right side. 

6. Slide the new Cobra freeway bar between the front of the frame and the rear of the front fender with the lower 
freeway bar mount pointing towards the rear.  Align the bar mount hole with the hole the bolt was taken from in 
step 1 and insert the bolt set aside in step 1 thru the bracket, footpeg and into the frame.  DO NOT TIGHTEN at 

this time. 

7. Repeat step 6 on the right side. 

8. Rotate the top of the freeway bar until the mounting bracket holes align with the billet clamp threaded holes and 
insert the two 5/16 bolts provided thru the mount and into the clamp.  DO NOT TIGHTEN at this time. 

9. Repeat step 8 on other side. 

10. Check alignment and tighten all bolts to appropriate torque settings. 

11. Reinstall the horn with the M8 bolt provided thru the horn bracket, spacer and into the frame.  Check horn for 
clearance and tighten.  Reinstall horn wires and check for proper operation. 

12. Reinstall M6 bolts from step 2 into plastic frame covers and tighten. 

 

 

 

Cobra Freeway Bars add style to your motorcycle.  They are not designed to withstand a serious impact and 

may not protect you and/or your motorcycle in the event of a crash. 

 01-1118 Page 1 of 1 

 


